HW #2 l’ﬁ' 3b0

lected S payments of $250
H o) The company has collec 4 v

~

eath and has +o Py oot ¥ oo, 000

b) 9.49058

(‘/\ My =z $%0%.3S (f company nsures wmany ppl, 'Hf\ey w i)

make about $320333 per Wfe Tvspvance Fothy , 0 a\va :

20 &) RBotw distnbutions skewed rtjkv. centeyr @ "{am‘uly"
distrivution greateyr than "house hold"  Event T

Ms\\cv Pkobabi\i'\—y in “househeld" distribution

b) touse hoyd : My= 2.6 ppl FAM(\y * Uy = 314 pel

Faw\i\\/ WMean MSW“" ble no
in (‘cumil\/ distrivvtion bvt vailv

=

values equal 4o |
< of |\ commen  in WD\’SCWS\é

i A vapdom ly selected hovseho\d)
wil ’\’\/?\cal\\/ offer £from wean (2.6 by aboUt

1.A2| pel

) Ox= 142 % of epl

Fy=l.24a T wean (314 By EREOEE. 2 el

28 b



